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0,552,5

@ 250+5

O 25+5

@)25+5

® 250+ 0.5

@ 25 +50

25+05=25+5
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HEFD 100
e 4928
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49.28 + 0.64 = 4928 = o4 _ 4928 + 64 = 77

100 ~ 100
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29.89 +0.49
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\VARR 4
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61

29.89 + 0.49 = 2989 + 49 = 61




5. The heAlel 3 27 R AL olm AU

10.4+1.3
D 24+03 @ 72+09 @8.4 =12
@ 19.2+24 ® 48=+06

B

104+13=104+13=38
D24+03=24+3=8
@72+09=72+9=8
@®84+12=84+12=7
@192+24=192+24=28
®48+06=48+6=8
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® 49+0.7 @ 21+03
@7.8 +1.3 ® 12.6+1.8

@ 14.7+2.1

~&B

56+0.8=56+8="7
D49+07=49=7="7
©®21+03=21+3=7
®147+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7
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4.68+0.36[ ]3.36+0.24
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vV V¥
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4.68 + 0.36 = 468 ~ 36 = 13
3.36+0.24=336+24=14
— 4.68 +0.36 < 3.36 + 0.24
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9.52 + 0.56 = 952 + 56 = 17
41.65 + 2.45 = 4165 + 245 = 17
9.52 +0.56 = 41.65 + 2.45
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o] ol M o] T97kA] 712)+= 25.2km ©] 1L, St 7tA| 9] A=
28km YUt} S5t HolA mo] Fe7HA €] A el SturtA| 9
72]e] & HjQIA] kA L.

@® 74 @ 8l ® 8.5 Hj
@)9 Hj ® 9.5 Hf

25.2 + 2.8 = 252 + 28 = 9(Hl)
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3

19.2 kg A2

56 7l

ul
K0

-i

>

‘ 1075.2 + 19.2 = 10752 = 192 = 56(7H)
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AE 18 2F4st=d 2 0.72m 7 29Ut Z3528m=E AE
9 e TS 5 A5U7

® 4 @A @sH @uh  ©s0H

35.28 = 0.72 = 3528 = 72 = 49(7)




13. HAo|= AHE 18.4kg T, Jot= 11.35kg BHUTH 5 Abgo]
o AFLE S AR 4.25kg A HeTHA, ARt B E H 7 Ha gt
Y72

A= B 18.4 4 11.35 = 29.75 (kg) YU th.
29.75 + 4.25 = 7(7H)




14. A<
Absrol T g ot ARl 5.62kg M He
Q

ol EL 20.42kg S H, ojHHUA A E 41.41{%% ‘Hﬁ—\i E}.HE}
b, Azt 7% g 77
- A )

2o BT 2042+ 41.4 = 61.82 (kg) YT}
61.82 + 5.62 = 11(7N)




